D1visION: LARGER NUMBERS (H - SET 2)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

) —87450 = 10 =

1) 9204 + 2 =
w4558 = 1 =

W 25047 + 9 =

) —40173 + (=7) =
) —82770 + (—10) =
36065 + 5 =

) —31728 = (—=8) =
) —3574 + (—1) =

50 64785 + (—7) =

Mathematics: Division - Level 4 - Horizontal - Set 2

151)

152)

153)

154)

156)

157)

158)

159)

160)

36190 = 7 =

068 + 1 =

8514 + (—9) =
—5004 + (—9) =
23868 = (—4) =
—2140 + (—4) =
—92030 = (—10) =
15834 = 7 =
—69190 = (—10) =

—14618 + 2 =
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